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Demo of page lipping routine. Two
$50000 and $78000.

can be flipped around at the press of a key.

GET SCREEN RESOLUTION t

RESOLUTION=PEEK (£H44C)

IF RESOLUT.

IF REBDL\.IT TD-EN

pages are used, addresses:
Text is written in both and then the two screens

%% PHYSICAL SCREEN = 1 s

1 GOSUB SHOWSCREEN:REN

POKE l:nNmL Snvmsvsunﬂsn ##uss LOBICAL SCREEN = 2 ssss
SCREEN=21B0SUB SHOWSCREEN:REM ##s PHYSICAL SCREEN = 2 ###
POKE l:nmm_ zxvnxevsunnsn #suse LOGICAL SCREEN = 1 wsse

REM
REM
REM

INITIALISE BOTH SCREENS !

SCREEN=1:G0SUB SHOWSCREEN: FULLW 21CLEARW 2:B0TOXY 0,0

PRI

NT

PRINT
PRINT
PRINT
COLOR

REM

“This is one of the two scresns"

"It contains both text and graphics”

“And is displayed in an instant."

"Press ‘A’ to exit":PRINT"Anything else flips screen
1,1,1,4,2:PCIRCLE CX,CY,MR

PRINT
PRINT
PRINT
PRINT
FOR R=MR TO O STEP -(MR/B)

COLOR 1,1,1,INDEX,2:PCIRCLE CX,CY,R1 INDEX=INDEX+1:NEXT R
REM

REM ! NOW SHOW THE SCREENS ONE AFTER THE OTHER 1

REM

SCREEN=13G0SUB SHOWSCREEN: I=INP(2):IF =65 OR I=97 THEN GOTO 530
SCREEN=2:60SUB SHOWSCREEN: I=INP(2) 1 IF I=65 OR I=97 THEN BOTO 530
6070 S00

REM

REM | “A" PRESSED - RESTORE EVERYTHING TO NORMAL 1

REM

P=NORMAL : L=NORMAL : GOSUB 301101 END

REM

REM # THIS ROUTINE'S FUNCTION IS TO FLIP BETWEEN THE TWO SCREENS. THE
REM # LOGICAL SCREEN BASE IS SET TO ONE SCREEN, WHILE THE PHYSICAL
REM * SCREEN BASE IS SET TO POINT TO THE OTHER SCREEN. IN THIS WAY IT
REM » 1S POSSIBLE TO DRAW ON ONE SCREEN, WHILE DISPLAYING THE OTHER
REM * AND THEN REVERSE THE SITUATION, DISPLAYING THE OTHER SCREEN.
REM

LW 2:CLEARW 0,0
"This is the other screen, and!

“Like the first, also contains text"

“And graphics.": INDEX=0

"Press ‘A’ to exit"iPRINT"Anything wlse flips screen®

TR

SHOWSCREEN| ~NORMAL 3 L=t

PH=INT (P/&5536) § LH=INT (L/45536) 1 P1=P—4655364PH1 LI»L~65536LH
PH=INT (P1/256) : DEF SEG=0:POKE LHA4E,LHIPOKE LH4S0,LI

DEF SEB=MHFFB2001POKE 1,PHiPOKE 3,PMIDEF SEG=01RETURN

s IF SCREEN=1 THEN P

SE_P=LHS00001L=NORMAL



